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Explain the Types of gradient.
Or

A road has a total width of 7.5 m including extra widening on curve and
design speed of 60 kmph. Calculate the length of transition curve and its
shift on this curve of 200 m radius. Allowable super — elevation is 1 in
150 and pavement is rotated about centerline. :

Design the pavement for construction of a new two lane carriageway for
design life 15 years using IRC method. The initial traffic in the year of
completion in each direction is 150 CVPD and growth rate is 5%. vehicle
damage factor based on axle load survey = 2.5 std axle per commercial
vehicle. Design CBR of subgrade soil=4%.

Or
Explain the desig:n procedure for rigid pavements.
What are the Different forms of bitumen.

Or

Explain the California Bearing Ratio Test.

What are the possible causes for longitudins;l cracking?
Or

Explain in detail about any four methods of strengthening of pavements!
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